
 
 

Report Generated On: 09/20/2024 Unique Device Identification

     Set Code:
 
  868A

 

  Set Barcode:
 
  Description:

 
  PEAK CHANNELED PLTE SAFETY SCR

 
  Case Report ID:

 
  

     Surgery Date and Time:
 
  

 
  Surgeon:

 
  

 
  Operating Room:

 
  

 
  Case ID:

 
  

 

   Primary Tray

Product # Product Desc. QTY UDI-DI LOT Numbers UDI Barcode

1 274672000 DEPUY MOTECH UTILITY
TRAY

1 10705034298955

 

  (01)10705034298955

2 174605008 4.0X8MM SCREW 4 10705034248592

 

  (01)10705034248592

3 174605016 4.0X16MM BONE SCREW
BICORTICAL

6 10705034248646

 

  (01)10705034248646

4 174605022 4.0X22MM BONE SCREW
BICORTICAL

6 10705034248707

 

  (01)10705034248707

5 174605024 4.0X24MM BONE SCREW
BICORTICAL

6 10705034248721

 

  (01)10705034248721

6 174605017 4.0X17MM BONE SCREW
BICORTICAL

6 10705034248653

 

  (01)10705034248653

7 174605019 4.0X19MM BONE SCREW
BICORTICAL

6 10705034248677

 

  (01)10705034248677

8 174605028 4.0X28MM BONE SCREW
BICORTICAL

6 10705034248752

 

  (01)10705034248752

9 174605023 4.0X23MM BONE SCREW
BICORTICAL

6 10705034248714

 

  (01)10705034248714

10 174605014 4.0X14MM SCREW 4 10705034248622

 

  (01)10705034248622

11 174605026 4.0X26MM BONE SCREW
BICORTICAL

6 10705034248745

 

  (01)10705034248745

12 174605020 4.0X20MM BONE SCREW
BICORTICAL

6 10705034248684

 

  (01)10705034248684

13 174605025 4.0X25MM BONE SCREW
BICORTICAL

6 10705034248738

 

  (01)10705034248738

                               1 / 2



 
 

Report Generated On: 09/20/2024 Unique Device Identification

     Set Code:
 
  868A

 

  Set Barcode:
 
  Description:

 
  PEAK CHANNELED PLTE SAFETY SCR

 
  Case Report ID:

 
  

     Surgery Date and Time:
 
  

 
  Surgeon:

 
  

 
  Operating Room:

 
  

 
  Case ID:

 
  

 

   Primary Tray

Product # Product Desc. QTY UDI-DI LOT Numbers UDI Barcode

14 274674000 ANCILLARY SCREW CADDY 1 10705034193472

 

  (01)10705034193472

15 174605021 4.0X21MM BONE SCREW
BICORTICAL

6 10705034248691

 

  (01)10705034248691

16 174605012 4.0X12MM SCREW 4 10705034248615

 

  (01)10705034248615

17 174605018 4.0X18MM BONE SCREW
BICORTICAL

6 10705034248660

 

  (01)10705034248660

18 274656000 4.0MM SCREW CADDY 1 10705034298900

 

  (01)10705034298900

19 174605030 4.0X30MM BONE SCREW
BICORTICAL

6 10705034248769

 

  (01)10705034248769

Powered by TCPDF (www.tcpdf.org)

                               2 / 2

http://www.tcpdf.org

